Read the problems and solve

There are 5 bunches of bananas. Each
bunch has 5 bananas. How many bananas
are there in all?

There are bananas all together.

A gardener has planted 7 trees in a row. If
there are 10 rows, how many trees are there
altogether?

There are trees all together.

There are 10 swings in the park. On each swing
there are 2 children. Find the total number of
children?

There are children all together.

John eats 3 meals a day. How many meals
does he eat in one week?

There are meals all together.

There are 4 basket. Each basket has 6 apples.
How many apples are there altogether.

There are apples all together.




